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Paper |
[Cost Accounting]

Time : Three Hours ] [ Maximum Marks : 75
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fyard &1 @S ‘g’ § &g ST FFR & T & uF
e ‘g’ § g1 ST 99T 81 @UE ‘37’ F GaY Uget
g fHaT ST &

Note : Section ‘A’ containing 10 very short answer type
questions, is compulsory. Section ‘B’ consists of
short answer type questions and Section ‘C’
consists of long answer type questions. Section ‘A’
has to be solved first.

gug ‘I’
Section ‘A’
freifera sifaerg 3w G941 & ST T a1 G arFl
731
Answer the following very short answer type
questions in one or two sentences. 1x10=10

1. IO 99 Td Ay 99 H T &arsy |

Distinguish between Direct Labour and Indirect labour.
P.T.O.

10.
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g ‘et ‘o’ 3R ‘g faveror ¥ e mEEd 2
What do you understand by A, B and C analysis ?
S 3Tad Rl AT 3T Ty H 2

How will you measure the labour turn over ?

Ul o SIS i SATEvIhdl ol TI HIT |

State the necessity of apportionment of overheads.

. NG 97 M B § SR g8 F S S 82

What is a Cost sheet and why is it prepared ?
Sy ARY Ara fafy = g2
What is a Job Order costing ?

. Yfhen uferaiea &1 yg@ fagoand = § ?

What are the characteristics of process costing ?
AT qREATR oh 38l Sl HHARU |

Explain the objects of transport costing.

. e 9o §?

What is Margin of Safety ?
Wehlehd U8 31-Tehichd ol@ieh H 3T<iX hiflC |

Distinguish between integral and non-integral

accounting.
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@gue ‘g’
Section ‘B’

freTTfera &g ST F941 & IW 150-200 I155 T
43
Answer the following short answer type questions

with word limit 150-200. 5x5=25
. TN S I 7?2 Tk fafq= YRRl I SRy |
What is a Cost centre ? State its different types.

3Udr
Or

Wih TR o fafy= YRl ! GHAET |

Explain the various types of inventory levels.

. HTEEH 9T 1 € Ud $Hh 3 &M oh 1 Rl
§?

What is idletime and what are its causes ?

3Adr
Or

srafdumia Afqee = €27 WO S Ysfadl &
H &y |
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What is inter-departmental apportionment ? Enumerate

its two methods.

. fordt et # R sufer meigd &1 20% ©

e hTerd SURSHT HREM AN 61 10% | e
S Tk AYfd w1 fforr qea s @ S, fSed
Tt T 1000 AR HEGH T 1500 TR qel oy
fosha gea W 20% @ ?

In a company, works overheads are 20% of wages and
office overheads are 10% of works cost. What price
should the company quote for a supply which, it is
estimated will reguire material worth ¥ 1,000 and X
1,500 for wages and profit would be 20% of selling
price.
AT
Or

gferg fewmforn fafem .
Write short notes :

(i) JETU el (Work certified);
(i) STIHITUG 1 (Work uncertified) |

. Yfehen ufteraiena o1 @ fagvand o €2

What are the characteristics of Process costing?
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37ar
Or

qfEre ara fRd @ed 82 I8 foea-foa sami §
SIS S 2

What is operating cost ? In which industries it is used ?
. TH-HE o HEel sl SdEy |

Discuss the importance of Profit volume Ratio.

3Adr
Or

TREhT 1 Uehiehd YGfd ohi SERYA STavasharsi
%l &R |
Explain the basic requirements of an integrated system
of accounting.
gue ‘g’

Section ‘C’
fETfeRd T SWIF g9 & 3 300-350 5 GIHT
43
Answer the following long answer type questions
with word limit 300-350. 8x5=40

. TG 3TSheTr skt gfiiaren fafew qen 9ok Sevdl wa
4 T Gu HifeT |

Define Cost audit and describe its objectives and

importance.

[ 5] P.T.O.

Code No. : BB-235
3ar
Or

Fefafed geel | oiw fafy § 2" oS @
dILU |

Prepare store ledger account by LIFO Method from

the following informations :

Receipts Issues

Date Units  Rate Date Units
2020 (kg) 3 2020 (kg)
March 1 200 5 March 5 150
March 10 100 6 March 12 100
March 15 400 7 March 18 200
March 22 200 8 March 20 100

March 30 250

T 10 &1 FF 1 T8 5 kg A oYUl AR TE 9
T 14 1 faohdl o1 o & < 2 | i ameh
o HY dlel o HRO A 30 I ST HH W 2 kg
[T A R T |
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5 kg purchased on 10t March werefound to
bedefective and returned to vendor on 14t March; 2
kg Materials werefound to be surplus on checking on

March 30 due to short weighting of material issued.

. 99 H UIRYHE <7 ®I FHAHER Td HRITAR
gofadl | AT F HHAAG § 7 3Hoh oW T BN
%l GHHAT |

What do you mean by Piece Rate and time Rate system
of remunerating the labour ? Discuss their advantages

and disadvantages.

3Udr
Or

[ Hue € oh fAuier ¥ R Wy ¥? 9ok
frufor § sam wen 9 9kl &1 faa=m wifse e
TR B T oF RO &1 Th AT S|

What is meant by computation of Machine Hour Rate?
Discuss the factors to be considered while computing

it and give a specimen of computing Machine Hour Rate.

3. T ®H & AN @ & FEfafled stewst 3

(31) ygK 9l ki @rrd, (o) TfHd \e o g,
agn (9) faghl W Gehad o1y k1 Sfawd A1 shifsu—

From the following figures of trading account of a
firm ascertain the : (a) Cost of materials used, (b)

[ 7] P.T.O.
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value of output of manufactured goods and (c)

percentage of gross profit on sales :

Trading Account
4 4
To stock (&feh) : By sales (fasra) | 84,000
Finished goods By stock (%) :
(PR =) - 8,000 Finished goods
Raw Materials (TR 1) 7,000

(== "11) 2,400 10,400| Raw Materials
To Purchases (h¥)| 24,000 (=h==1 Ared) 2,800 9,800
To wages (7sigdl) | 40,000

To carriage (TS1) 2,000

To gross profit
(Hshel o4) 17,400
93,800 93,800
AT
Or

o AT Rt Weh ®H A, S oIS 3% oidl €, Teh 3ol
Wl del H Ycodeh 3oh Rl S-S @ial Wl |
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frfafed faowor e T8 3 4 gefed & S fa
31 |, 2019 ! TETE 9% | swEiad fear T

3T CFE G FHIUI i3 T 4,29,000; ShHIGTAT H U
THS T 3,90,000; LA b1 Teit AU T 1,93,500;
FEA W T 99 T 1,64,400; HETIA T
- T33,900; 31-3-2019 &1 I HT HA
3 24,600; 310 yEIfora <EF S Ht @d T 10,200,
T 9 % 9,750; 9 &9 T 7,200; 31-3-2019
Sl #Aed HSigl % 5,400; 31-3-2019 &€ GHUT
3 4,200; TR & ce@ 9T, T 1,200; 367 Y8l
=4 T 600; SR A T 6,00,000 |

39 31 "=, 2019 @1 3F W oMY fg@d g @l
SR |

A firm of Builders, carrying out large contracts kept
in a contract ledger account for each contact.

The following particulars relate to a certain contact
carried out during the year ended 315t March, 2019 :

Work certified by architects X 4,29,000; Cash received
from the contaractee ¥ 3,90,000; Materials sent to
site ¥ 1,93,500; labour engaged on site X 1,64,400;
Plant installed on site ¥ 33,900; value of plant at 31-
3-2019 X 24,600; Cost of work not yet certefied
10,200; establishment charges X 9,750. Direct
expenditure ¥ 7,200; wages accrued at 31-3-2019
% 5,400; Materials in hand at 31-3-2019 ¥ 4,200;

[ 9] P.T.O.
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Materials returned to store I 1,200; Direct
expenditure accrued due at 31-3-2019 X 600; contract
price X 6,00,000.

You are required to prepare an account showing the
profit on the contract on 315t March, 2019.

. e Tmiolt Heen e Seqe < fafeEi fer’ iR e

Y B TORA1 § | I8 WM ¢ TR SHI fafe § e
IR VR 1 5% HA B SO 3R 10% STER
I & S AR 9 fafEi o shmen: 80 wided
qen % 200 wfd =9 foekar B
The product of a manufacturing concern passes through
two processes A and B and then to finished stock. It
is ascertained that in each process 5% of the total
weight is lost and 10% is scrap which from processes
A and B realises I 80 per ton and ¥ 200 per ton
respectively.
< fafedll & wefua ade =1 T -
The following are the figures relating to both the
processes :
fafer ‘a1’ fafa ‘=’
Process A Process B

gt (2 #) 1,000 70
(Materials (tons)
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T[N w1 A (9fd 2T ')

Cost of Materials (X per ton) 125 200
gl () wages ) 28,000 10,000
fmtor =54 (%) Manufacturing 8,000 5,250

expenses ()

IaeA (2 #) Output (tons) 830 780
fafy =@ TR wive S <E fafedl @@t gfdes
arTd aare | feRdl o fafy § @ =i @l oan
Prepare Process cost accounts showing cost per ton
of each process. There was no stock in any process.

HAAAT
Or

YR &, STERY &9 3R SFEERO F=d hi
qfaren ST AR T a5 &1 HERo s |
Ik YIS ol TR : HHARY | Yiehdl ANTG @rdl |
IR 1 FdeR Thdr S ?

Define Normal wastage, Abnormal wastage and
Abnormal effectiveness and explain their effects on
the ascertainment of cost of an article. How will they

be treated in process cost accounts.

. Tep fHaTol Txen o &d @@ T 5,500 1 oY Yei¥ia
L © AR foxia o/d T 3,600 1| Fefafed wel
HT AW ARG QR § TRl ge :

[ 11 ] P.T.O.
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BT Yhesh % 1,000; Fohs &2 e 3 300; et
AT TEAIG i 1 =39 T 200; ANk aifqyfd
% 400; T TE T 500; SId R T 700; ST T IR
qof g9 W SHEEAT 3 800 |
Teh gHIEM fdeul dHET |

In a manufacturing company the profit revealed by
costing record is X 5,500 while the profit as per
financial books is X 3,600. The following items are

not recorded in cost books :
transfer fees ¥ 1,000; Cash discount given X 300.

Expenses increased in transfering the company’s office
% 200, compensation payable at law X 400, staff
pensions X 500. Bad debts X 700, Penalties paid for

late completion of contract ¥ 800.
Prepare a Reconciliation Statement.

3gar
Or

‘Tg-fa=se fagawr <1 @ 31ef 82 sHel Hr=aisd
R Hime o1 fae=q wifsu)

What is meant by ‘Break even Analysis ? Discuss its

assumptions and limitations.

00000dO0OO0O000
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